



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header @ 2

List View

General Information | Contact | Default Values | Discount | Document Information | Clarification Request

Procurement Folder: 1897869
 Procurement Type: Central Master Agreement
 Vendor ID: VS0000037603
 Legal Name: ADELPHI STAFFING LLC
 Alias/DBA:
 Total Bid: \$260,964.00
 Response Date: 03/03/2026
 Response Time: 12:08
 Responded By User ID: Medrecruit
 First Name: Dayne
 Last Name: Troupe
 Email: dtroupe@adelphistaffing.co
 Phone: 6783651101

SO Doc Code: CRFQ
 SO Dept: 0403
 SO Doc ID: DBS2600000009
 Published Date: 2/19/26
 Close Date: 3/3/26
 Close Time: 13:30
 Status: Closed
 Solicitation Description: Nursing Services
 Total of Header Attachments: 2
 Total of All Attachments: 2

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	RN BSN Nursing Services - Day Shift (8:00am - 4:00pm) M-F	200.00000	EA	75.000000	15000.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Day Shift (8:00am - 4:00pm) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	RN BSN Nursing Services - Evening Shift (4:00pm - 12:00am)	200.00000	EA	77.250000	15450.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Evening Shift (4:00pm - 12:00am) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	RN BSN Nursing Services - Overnight (12:00am - 8:00am) M-F	200.00000	EA	77.250000	15450.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Overnight (12:00am - 8:00am) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	RN BSN Weekend Shift up to 12 hours Sat & Sun	200.00000	EA	77.250000	15450.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Weekend Shift (up to 12 hr shift) Saturday & Sunday.
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	RN BSN Nursing Services - Overtime	200.00000	EA	93.750000	18750.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:**Extended Description:**

Nursing Services - Overtime

Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	RN BSN Nursing Services - Holiday	200.00000	EA	93.750000	18750.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:**Extended Description:**

Nursing Services - Holiday

Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	RN Nursing Services - Day Shift (8:00am - 4:00pm)	200.00000	EA	68.000000	13600.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:**Extended Description:**

Nursing Services - Day Shift (8:00am - 4:00pm) M-F

Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	RN Nursing Services - Evening Shift (4:00pm - 12:00am)	200.00000	EA	70.040000	14008.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:**Extended Description:**

Nursing Services - Evening Shift (4:00pm - 12:00am) M-F

Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	RN Nursing Services - Overnight (12:00am - 8:00am) M-F	200.00000	EA	70.040000	14008.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:**Extended Description:**

Nursing Services - Overnight (12:00am - 8:00am) M-F

Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	RN Weekend Shift up to 12 hours Sat & Sun	200.00000	EA	70.040000	14008.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Weekend Shift (up to 12 hr shift) Saturday & Sunday.
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	RN Nursing Services - Overtime	200.00000	EA	85.000000	17000.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Overtime
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	RN Nursing Services - Holiday	200.00000	EA	85.000000	17000.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Holiday
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	LPN Nursing Services - Day Shift (8:00am - 4:00pm)	200.00000	EA	55.000000	11000.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Day Shift (8:00am - 4:00pm) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	LPN Nursing Services - Evening Shift (4:00pm - 12:00am)	200.00000	EA	56.650000	11330.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Evening Shift (4:00pm - 12:00am) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	LPN Nursing Services - Overnight (12:00am - 8:00am) M-F	200.00000	EA	56.650000	11330.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Overnight (12:00am - 8:00am) M-F
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	LPN Weekend Shift up to 12 hours Sat & Sun	200.00000	EA	56.650000	11330.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Weekend Shift (up to 12 hr shift) Saturday & Sunday.
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	LPN Nursing Services - Overtime	200.00000	EA	68.750000	13750.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Overtime
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	LPN Nursing Services - Holiday	200.00000	EA	68.750000	13750.00

Comm Code	Manufacturer	Specification	Model #
85101601			

Commodity Line Comments:

Extended Description:

Nursing Services - Holiday
Hours are estimated quantities for bidding and evaluation purposes only. Hours are not guaranteed and may be more or less.

**REQUEST FOR QUOTATION
SUBMITTED TO:**



**STATE OF WEST VIRGINIA
RFQ: CRFQ 0403 DBS2600000009
NURSING SERVICES
MARCH 3RD, 2026 - 13:30 PM (EST)**

Prepared by:

Dayne Troupe, Managing Partner
Adelphi Staffing, LLC
3651 Peachtree Pkwy, Suite E439
Suwanee, GA 30024-6034

Tel: 678-365-1101; Fax: 678-257-2992
edu-support@adelphistaffing.com

Table of Contents

EXHIBIT A: PRICING	1
PRICING SHEET	3
RFQ FORMS	4
SOLICITATION COVER VERSION 1	5
SOLICITATION COVER VERSION 2	6
ADDENDUM ACKNOWLEDGEMENT FORM	7
DESIGNATED CONTACT	8
OUR REFERENCES	9
ADELPHI'S REFERENCES	10
BIDDER LICENSES AND CERTIFICATIONS	11
WV CERTIFICATE OF AUTHORIZATION	12
GA CERTIFICATE OF EXISTENCE	13

EXHIBIT A: PRICING

REQUEST FOR QUOTATION
Nursing Services

Contract Manager: Dayne Troupe

Vendor's Address: 3651 Peachtree Pkwy, Suite E439

Suwanee, GA 30024-6034

Telephone Number: 678-365-1101

Email Address: edu-support@adelphistaffing.com

West Virginia Schools for the Deaf and the Blind
Nursing Services
Exhibit A Pricing Sheet

<u>Description</u>	<u>Unit of Measure</u>	<u>Unit Cost</u>	<u>Estimated Quantities</u>	<u>Extended Cost</u>
RN-BSN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$75.00	100	\$ 7,500.00-
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$77.25	500	\$ 38,625.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$77.25	500	\$ 38,625.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$77.25	200	\$15,450.00
Nursing Services - Overtime	Per Hour	\$93.75	100	\$9,375.00-
Nursing Services - Holiday	Per Hour	\$93.75	100	\$9,375.00-

RN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$68.00	100	\$6,800.00-
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$70.04	500	\$ 35,020.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$70.04	500	\$ 35,020.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$70.04	200	\$ 14,008.00
Nursing Services - Overtime	Per Hour	\$85.00	100	\$ 8,500.00-
Nursing Services - Holiday	Per Hour	\$85.00	100	\$ 8,500.00-

LPN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$55.00	100	\$5,500.00-
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$56.65	500	\$28,325.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$56.65	500	\$28,325.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$56.65	200	\$11,330.00
Nursing Services - Overtime	Per Hour	\$68.75	100	\$ 6,875.00-
Nursing Services - Holiday	Per Hour	\$68.75	100	\$ 6,875.00-

Total \$314,028.00

RFQ FORMS



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

State of West Virginia
 Centralized Request for Quote
 Medical

Proc Folder: 1897869			Reason for Modification:
Doc Description: Nursing Services			
Proc Type: Central Master Agreement			
Date Issued	Solicitation Closes	Solicitation No	Version
2026-02-09	2026-03-03 13:30	CRFQ 0403 DBS2600000009	1

BID RECEIVING LOCATION

BID CLERK
 DEPARTMENT OF ADMINISTRATION
 PURCHASING DIVISION
 2019 WASHINGTON ST E
 CHARLESTON WV 25305
 US

VENDOR

Vendor Customer Code: VS0000037603
Vendor Name : Adelphi Staffing, LLC
Address : 3651 Peachtree Pkwy, Suite E439
Street :
City : Suwanee
State : GA **Country :** USA **Zip :** 30024-6034
Principal Contact : Dayne Troupe
Vendor Contact Phone: : 678-365-1101 **Extension:**

FOR INFORMATION CONTACT THE BUYER
 James W Atkins
 (304) 558-0094
 james.w.atkins@wv.gov

Vendor Signature X  **FEIN#** 81-4797062 **DATE** 03/02/2026

All offers subject to all terms and conditions contained in this solicitation



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

State of West Virginia
 Centralized Request for Quote
 Medical

Proc Folder: 1897869		Reason for Modification:	
Doc Description: Nursing Services		Addendum No. 1	
Proc Type: Central Master Agreement		Vendor questions and Responses	
Date Issued	Solicitation Closes	Solicitation No	Version
2026-02-19	2026-03-03 13:30	CRFQ 0403 DBS2600000009	2

BID RECEIVING LOCATION

BID CLERK
 DEPARTMENT OF ADMINISTRATION
 PURCHASING DIVISION
 2019 WASHINGTON ST E
 CHARLESTON WV 25305
 US

VENDOR

Vendor Customer Code: VS0000037603
Vendor Name : Adelphi Staffing, LLC
Address : 3651 Peachtree Pkwy, Suite E439
Street :
City : Suwanee
State : GA **Country :** USA **Zip :** 30024-6034
Principal Contact : Dayne Troupe
Vendor Contact Phone : : 678-365-1101 **Extension:**

FOR INFORMATION CONTACT THE BUYER

James W Atkins
 (304) 558-0094
 james.w.atkins@wv.gov

Vendor
 Signature X

FEIN# 81-4797062

DATE 03/02/2026

All offers subject to all terms and conditions contained in this solicitation

ADDENDUM ACKNOWLEDGEMENT FORM
SOLICITATION NO.: CRFQ DBS26*09

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:

(Check the box next to each addendum received)

- | | |
|--|--|
| <input checked="" type="checkbox"/> Addendum No. 1 | <input type="checkbox"/> Addendum No. 6 |
| <input type="checkbox"/> Addendum No. 2 | <input type="checkbox"/> Addendum No. 7 |
| <input type="checkbox"/> Addendum No. 3 | <input type="checkbox"/> Addendum No. 8 |
| <input type="checkbox"/> Addendum No. 4 | <input type="checkbox"/> Addendum No. 9 |
| <input type="checkbox"/> Addendum No. 5 | <input type="checkbox"/> Addendum No. 10 |

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Adelphi Staffing, LLC

Company



Authorized Signature

03/02/2026

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

(Printed Name and Title) Dayne Troupe - Managing Partner

(Address) 3651 Peachtree Pkwy, Suite E439, Suwanee, GA 30024-6034

(Phone Number) / (Fax Number) Tel: 678-365-1101; Fax: 678-257-2992

(email address) edu-support@adelphistaffing.com

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation/Contract in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation/Contract for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that this bid or offer was made without prior understanding, agreement, or connection with any entity submitting a bid or offer for the same material, supplies, equipment or services; that this bid or offer is in all respects fair and without collusion or fraud; that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; that I am authorized by the Vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on Vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

By signing below, I further certify that I understand this Contract is subject to the provisions of West Virginia Code § 5A-3-62, which automatically voids certain contract clauses that violate State law; and that pursuant to W. Va. Code 5A-3-63, the entity entering into this contract is prohibited from engaging in a boycott against Israel.

Adelphi Staffing, LLC

(Company) 

(Signature of Authorized Representative)
Dayne Troupe - Managing Partner

(Printed Name and Title of Authorized Representative) (Date)
Tel: 678-365-1101; Fax: 678-257-2992

(Phone Number) (Fax Number)
edu-support@adelphistaffing.com

(Email Address)

OUR REFERENCES

ADELPHI'S REFERENCES

Reference #1			
Client Name	Montgomery County Public Schools	Contract Dates	2024 to Date
Contract Representative	Shannon Farmer	Contract Rep. Phone Number	240-987- 8031
Contract Rep. Address	850 Hungerford Drive, Suite 170 Rockville, MD 20850	Contract Rep. Email	Shannon M Jiron@mcpsmd.org
Description of Service: Temporary staffing services in schools across the district that includes providing nurses for students with special needs.			
Reference #2			
Client Name	Charles County Public Schools	Contract Dates	April 2025 to Date
Contract Representative	Patrice E. Peoples	Contract Rep. Phone Number	301-934-7432
Contract Rep. Address	5980 Radio Station Road, La Plata, MD 20646	Contract Rep. Email	ppeoples@ccboe.com
Description of Service: Adelphi's contract with the school district involves providing private duty nursing services and other allied health professions.			
Reference #3			
Client Name	Missouri School For The Deaf	Contract Dates	June 2022 to Date
Contract Representative	Dorothy McCray	Contract Rep. Phone Number	573-592-2501
Contract Rep. Address	505 E 5th St, Fulton, MO 65251	Contract Rep. Email	Dorothy.McCray@msd.dese.mo.gov
Description of Service: Adelphi's contract with the school district involves providing allied healthcare professionals for different job categories.			
Reference #4			
Client Name	Fairfax County Juvenile Detention Center	Contract Dates	July 2017 to Date
Contract Representative	Daniel Reilly	Contract Rep. Phone Number	703-246-2844
Contract Rep. Address	10650 Page Ave, Fairfax, VA 22035	Contract Rep. Email	Daniel.reillyjr@fairfaxcounty.gov
Description of Service: Adelphi's contract with Fairfax County Juvenile Detention Center involves staffing services for healthcare professionals.			
Reference #5			
Client Name	Longview Regional Medical Center	Contract Dates	April 2022 to Date
Contract Representative	Amber Burleson	Contract Rep. Phone Number	903-232-3606
Contract Rep. Address	2901 Fourth St, Longview, TX 75605	Contract Rep. Email	amber.burleson@longviewregional.com
Description of Service: Contract with Longview involves locum staffing for various specialities.			

BIDDER LICENSES AND CERTIFICATIONS

State of West Virginia



Certificate

I, Kris Warner, Secretary of State of the State of West Virginia, hereby certify that

ADELPHI STAFFING, LLC

was duly authorized under the laws of this state to transact business in West Virginia as a foreign limited liability company on November 04, 2021.

The company is filed as an at-will company, for an indefinite period.

I further certify that the company has not been revoked or administratively dissolved by the State of West Virginia nor has the West Virginia Secretary of State issued a Certificate of Cancellation or Termination to the company.

Accordingly, I hereby issue this Certificate of Authorization

CERTIFICATE OF AUTHORIZATION

Validation ID:4WV7J_GKXYA



*Given under my hand and the
Great Seal of the State of
West Virginia on this day of*

February 10, 2026

Secretary of State

STATE OF GEORGIA
Secretary of State
Corporations Division
313 West Tower
2 Martin Luther King, Jr. Dr.
Atlanta, Georgia 30334-1530

CERTIFICATE OF EXISTENCE

I, **Brad Raffensperger**, the Secretary of State of the State of Georgia, do hereby certify under the seal of my office that

Adelphi Staffing, LLC
a Domestic Limited Liability Company

was formed in the jurisdiction stated below or was authorized to transact business in Georgia on the below date. Said entity is in compliance with the applicable filing and annual registration provisions of Title 14 of the Official Code of Georgia Annotated and has not filed articles of dissolution, certificate of cancellation or any other similar document with the office of the Secretary of State.

This certificate relates only to the legal existence of the above-named entity as of the date issued. It does not certify whether or not a notice of intent to dissolve, an application for withdrawal, a statement of commencement of winding up or any other similar document has been filed or is pending with the Secretary of State.

This certificate is issued pursuant to Title 14 of the Official Code of Georgia Annotated and is prima-facie evidence that said entity is in existence or is authorized to transact business in this state.

Docket Number : 30205207
Date Inc/Auth/Filed: 01/17/2017
Jurisdiction : Georgia
Print Date : 11/10/2025
Form Number : 211



Brad Raffensperger

Brad Raffensperger
Secretary of State

West Virginia Schools for the Deaf and the Blind
Nursing Services
Exhibit A Pricing Sheet

<u>Description</u>	<u>Unit of Measure</u>	<u>Unit Cost</u>	<u>Estimated Quantities</u>	<u>Extended Cost</u>
RN-BSN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$75	100	\$ 7,500.00
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$77.25	500	\$ 38,625.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$77.25	500	\$ 38,625.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$77.25	200	\$ 15,450.00
Nursing Services - Overtime	Per Hour	\$93.75	100	\$ 9,375.00
Nursing Services - Holiday	Per Hour	\$93.75	100	\$ 9,375.00

RN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$68	100	\$ 6,800.00
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$70.04	500	\$ 35,020.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$70.04	500	\$ 35,020.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$70.04	200	\$ 14,008.00
Nursing Services - Overtime	Per Hour	\$85.00	100	\$ 8,500.00
Nursing Services - Holiday	Per Hour	\$85.00	100	\$ 8,500.00

LPN				
Nursing Services - Day Shift (8:00am - 4:00pm) M-F	Per Hour	\$55.00	100	\$ 5,500.00
Nursing Services - Evening Shift (4:00pm - 12:00am) M-F	Per Hour	\$56.65	500	\$ 28,325.00
Nursing Services - Overnight Shift (12:00am - 8:00am) M-F	Per Hour	\$56.65	500	\$ 28,325.00
Nursing Services - Weekend Shift (up to 12 hours) Saturday and Sunday	Per Hour	\$56.65	200	\$ 11,330.00
Nursing Services - Overtime	Per Hour	\$68.75	100	\$ 6,875.00
Nursing Services - Holiday	Per Hour	\$68.75	100	\$ 6,875.00

Total \$ 314,028.00